
২৮ তম             -      ম        

১। 

            ত               ? 

(ক) 

                     ক 

(খ) 

                 ক 

(গ) 

   ক         গ      ক 

(ঘ) 

   ক     এক গ       গ     ঘ     ক 

     ক।                      ক 

২। 

ম                      ম    ? 

(ক) 

        ত 

(খ) 

   ত         ক   

(গ) 

  ক          ত  

(ঘ) 

ক        ত ত 

     খ।    ত         ক   

৩। 

       ত                    ? 

(ক) 
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(খ) 

         

(গ) 

        

(ঘ) 

        

     গ।         

৪। 

'      ত  '                            ? 

(ক) 

               

(খ) 

              

(গ) 

    ক             ত  

(ঘ) 

   ক  গ       

     ঘ।    ক  গ       

৫। 

        ত           ? 

(ক) 

                      ত    খ    ক 

(খ) 

   ক          ক         ত     ত   ক      ক 

(গ) 

           ত ও  খ  ত     ক           ক 

(ঘ) 

    ক     খ    খ     ত ক     ,গ  ,     ত     ক 
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     ঘ।     ক     খ    খ     ত ক     ,গ  ,     ত     ক 

৬। 

           ত   খ                 ? 

(ক) 

      ত ক 

(খ) 

       ত ক 

(গ) 

        ত ক 

(ঘ) 

    

     ক।       ত ক 

৭। 

              ম   ম             ? 

(ক) 

         ক  

(খ) 

  গ     

(গ) 

ত         

(ঘ) 

       

     খ।   গ     

৮। 

           ? 

(ক) 

                            ক 

(খ) 
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            খ          

(গ) 

এক        ত ক  গ         

(ঘ) 

এক        ক          

     ক।                             ক 

৯। 

'        ম                ? 

(ক) 

 ক  ত      গ 

(খ) 

           ক  ঘ         

(গ) 

       গ         

(ঘ) 

ক     ত   

     গ।        গ         

১০। 

ম   ম                           ? 

(ক) 

          

(খ) 

      গ ত      

(গ) 

     ত      

(ঘ) 

ক  ক      

     খ।       গ ত      
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১১। 

    ত     ম   ম   ত       ত      ? 

(ক) 

১৭৫৩      

(খ) 

১৮৫২      

(গ) 

১৮৩২      

(ঘ) 

১৮১৭      

     ক। ১৭৫৩      

১২। 

                  ত    ত           ? 

(ক) 

     ত    

(খ) 

    ত       

(গ) 

      

(ঘ) 

এক     

     খ।     ত       

১৩। 

           ত     ম ম    ম              ম    ? 

(ক) 

   ত            

(খ) 
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(গ) 

                  

(ঘ) 

   খ      

     গ।                   

১৪। 

          ম       ত              ? 

(ক) 

ক   ক   

(খ) 

     ও 

(গ) 

 ওগ ত 

(ঘ) 

    কত  

     ঘ।     কত  

১৫। 

                           ? 

(ক) 

ক  ত   ক   

(খ) 

                

(গ) 

        ক  ক   

(ঘ) 

              

     ক। ক  ত   ক   

১৬। 
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'  ত        ম   '              ত     ? 

(ক) 

ক               

(খ) 

   খ      

(গ) 

     ক     

(ঘ) 

             

     খ।    খ      

১৭। 

                 ত              ? 

(ক) 

     ক           

(খ) 

   ক      

(গ) 

   ক            

(ঘ) 

        

     খ।    ক      

১৮। 

ম                         ? 

(ক) 

 ত     

(খ) 

ক    ত         ত 

(গ) 
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      ক   গ   

(ঘ) 

           ত       

     ঘ।            ত       

১৯। 

 ও ত ও ম                       ম                   ? 

(ক) 

        

(খ) 

     

(গ) 

        

(ঘ) 

  ত           

     ঘ।   ত           

২০। 

'      '             ? 

(ক) 

     গ 

(খ) 

  ত     

(গ) 

       

(ঘ) 

        

     গ।        

২১। 

Dhaka is becoming one of the _ cities in Asia. 

(ক) 
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more busy 

(খ) 

busy 

(গ) 

busiest 

(ঘ) 

most busiest 

     ঘ। most busiest 

২২। 

He had written the book before he ---. 

(ক) 

will be retired 

(খ) 

has retired 

(গ) 

had retired 

(ঘ) 

retired 

     ঘ। retired 

২৩। 

Rizvi requested Rini _ telephone to attend the meeting. 

(ক) 

to ages 

(খ) 

from ages 

(গ) 

for ages 

(ঘ) 

since ages 

     খ। from ages 
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২৪। 

The word 'precedence' means- 

(ক) 

example 

(খ) 

elderly 

(গ) 

case 

(ঘ) 

priority 

     ঘ। priority 

২৫। 

The price of rice are _. 

(ক) 

risen 

(খ) 

Raising 

(গ) 

rising 

(ঘ) 

raised 

     খ। Raising 

২৬। 

To get along with means----- 

(ক) 

to accompany 

(খ) 

to adjust 

(গ) 

to interest 
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(ঘ) 

to walk 

     খ। to adjust 

২৭। 

'If winter comes, can spring be far behind?' These lines were written by _. 

(ক) 

Shelley 

(খ) 

Eliot 

(গ) 

Forst 

(ঘ) 

Keats 

     ক। Shelley 

২৮। 

The verb of the word 'short' is _. 

(ক) 

shorten 

(খ) 

Enshort 

(গ) 

shorted 

(ঘ) 

shorting 

     ক। shorten 

২৯। 

'Light' is to 'dark' as 'cold' is to _. 

(ক) 

cool 

(খ) 
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winter 

(গ) 

heat 

(ঘ) 

Hot 

     ঘ। Hot 

৩০। 

Many prefer donating money ..... distributing clothes. 

(ক) 

but 

(খ) 

to 

(গ) 

Than 

(ঘ) 

without 

     খ। to 

৩১। 

Julia has been ill _three months. 

(ক) 

about 

(খ) 

in 

(গ) 

for 

(ঘ) 

Since 

     গ। for 

৩২। 

We were waiting for the bus. The underlined part is. 
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(ক) 

a verb phrase 

(খ) 

a prepositional phrase 

(গ) 

an infinitive 

(ঘ) 

a noun phrase 

     ঘ। a noun phrase 

৩৩। 

The word 'disinterested' means 

(ক) 

lack of interest 

(খ) 

indifferent 

(গ) 

callous 

(ঘ) 

neutral 

     ঘ। neutral 

৩৪। 

Who did write first English dictionary ? 

(ক) 

Samuel Johnson 

(খ) 

Ben Jonson 

(গ) 

Boswell 

(ঘ) 

Milton 
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     ক। Samuel Johnson 

৩৫। 

New programs will be _ next week in Bangladesh Television. 

(ক) 

published 

(খ) 

telecasted 

(গ) 

Telecast 

(ঘ) 

broadcasted 

     গ। Telecast 

৩৬। 

The word 'electorate' means : 

(ক) 

election office 

(খ) 

a body of voter 

(গ) 

many elections 

(ঘ) 

candidates 

     খ। a body of voter 

৩৭। 

'Animal Farm' was written by- 

(ক) 

George Orwel 

(খ) 

Stevenson 

(গ) 
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Swift 

(ঘ) 

Mark Twain 

     ক। George Orwel 

৩৮। 

There is no alternative _training. 

(ক) 

than 

(খ) 

of 

(গ) 

for 

(ঘ) 

To 

     খ। of 

৩৯। 

Which sentence is correct ? 

(ক) 

This is a unique case 

(খ) 

This is an unique case 

(গ) 

This is a very unique case 

(ঘ) 

This is the most unique case 

     ক। This is a unique case 

৪০। 

I cannot _to pay such high prices. 

(ক) 

afford 
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(খ) 

try 

(গ) 

but 

(ঘ) 

Able 

     ক। afford 

৪১। 

                          ত               ও     ? 

(ক) 

        

(খ) 

        

(গ) 

      

(ঘ) 

   ক 

     ঘ।    ক 

৪২। 

           ম                        ত    ? 

(ক) 

১৩১০ 

(খ) 

১৫২৬ 

(গ) 

১৬১০ 

(ঘ) 

১৫২৮ 

     গ। ১৬১০ 
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৪৩। 

  ত      ২১-            ম               ? 

(ক) 

                 তক           ক   

(খ) 

      ক          

(গ) 

      ক    ত          

(ঘ) 

       ত                   

     গ।       ক    ত          

৪৪। 

                                ? 

(ক) 

২১        , ১৯৮০ 

(খ) 

১         , ১৯৮০ 

(গ) 

২৬        , ১৯৭৯ 

(ঘ) 

১৬        , ১৯৭৯ 

     ঘ। ১৬        , ১৯৭৯ 

৪৫। 

  ত     ত          ত   ত ? 

(ক) 

৪৫.৫   . 

(খ) 

৪৬   . 
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(গ) 

৪৬.৫   . 

(ঘ) 

৪৫   . 

     গ। ৪৬.৫   . 

৪৬। 

                      ? 

(ক) 

      ও        

(খ) 

      ও          

(গ) 

         ও     ক    

(ঘ) 

ক       ও      

     গ।          ও     ক    

৪৭। 

    ম         ত   ত ? 

(ক) 

৮০  গ       

(খ) 

৮২  গ       

(গ) 

৮৫  গ       

(ঘ) 

৩৫.১৩৫  গ       

     ঘ। ৩৫.১৩৫  গ       

৪৮। 
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              ম    খ    ত ? 

(ক) 

৮৫,৪৫০    

(খ) 

৮৪,৫০০    

(গ) 

৮৭,৩৭২    

(ঘ) 

৮৫,৫০০    

     গ। ৮৭,৩৭২    

৪৯। 

             ম   ত                       ? 

(ক) 

১১ এ   ,১৯৭৩ 

(খ) 

৬ এ   ,১৯৭৩ 

(গ) 

৫     ,১৯৭৩ 

(ঘ) 

৭     ,১৯৭৩ 

     ঘ। ৭     ,১৯৭৩ 

৫০। 

                                     ? 

(ক) 

     

(খ) 

       

(গ) 
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(ঘ) 

        

     ঘ।         

৫১। 

                  ম         খ    ত   ? 

(ক) 

১০০ 

(খ) 

৯৯ 

(গ) 

১০১ 

(ঘ) 

১০২ 

     ক। ১০০ 

৫২। 

              ? 

(ক) 

            

(খ) 

 গ           

(গ) 

       ক       

(ঘ) 

           

     খ।  গ           

৫৩। 

NASA-                 ? 
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(ক) 

ও        

(খ) 

      

(গ) 

 ক   ক     

(ঘ) 

      

     ক। ও        

৫৪। 

            ত       ত             ? 

(ক) 

৩০০     

(খ) 

৩৩৫     

(গ) 

৩৪২     

(ঘ) 

৫০০     

     গ। ৩৪২     

৫৫। 

               ত        ম   ত         ? 

(ক) 

          

(খ) 

     ক      

(গ) 
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(ঘ) 

  গ   

     খ।      ক      

৫৬। 

       ত ম               ম    ? 

(ক) 

   ক        ক     

(খ) 

          ত    

(গ) 

           গ  

(ঘ) 

         ও     

     ঘ।          ও     

৫৭। 

                               ? 

(ক) 

ক         ত 

(খ) 

   ক        

(গ) 

       

(ঘ) 

    

     ক। ক         ত 

৫৮। 

 ম      ও                   ম   খ         ? 

(ক) 
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   ক            

(খ) 

            

(গ) 

           

(ঘ) 

       গ        

     খ।             

৫৯। 

'              '                   ? 

(ক) 

        

(খ) 

      

(গ) 

         

(ঘ) 

          

     গ।          

৬০। 

                     ত       ১০০% ? 

(ক) 

      ক   

(খ) 

ক    ক    

(গ) 

         

(ঘ) 
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     ক।       ক   

৬১। 

             ম               ? 

(ক) 

     ক   ক   ত ক   এ  

(খ) 

     ক ঘ    ত ক   

(গ) 

     ক          ত ক   

(ঘ) 

১ ও ২ 

     গ।      ক          ত ক   

৬২। 

     ম       ত  ম    ২০   ত ৩০                       ত ত           ? 

(ক) 

৩ ক      

(খ) 

২ ক      

(গ) 

১০ ক      

(ঘ) 

৪ ক      

     গ। ১০ ক      

৬৩। 

                    ত                    ম     ম         ? 

(ক) 

১    ক    
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(খ) 

০.১    ক    

(গ) 

০.০১    ক    

(ঘ) 

০.০০১    ক    

     খ। ০.১    ক    

৬৪। 

            ও              ত    ত                     ত    ? 

(ক) 

       ক 

(খ) 

         ক 

(গ) 

      ক    ক 

(ঘ) 

  ক  তক    ক 

     গ।       ক    ক 

৬৫। 

                                      ম       -                     ? 

(ক) 

৩    

(খ) 

১    

(গ) 

৪    

(ঘ) 

২    
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     ক। ৩    

৬৬। 

                   ত                                          ত        ত   

  ম    ? 

(ক) 

      

(খ) 

         

(গ) 

         

(ঘ) 

         

     গ।          

৬৭। 

       ত  খ                    ত ত                          ত      ? 

(ক) 

ক    ক, ১৯৮৫ 

(খ) 

এ   , ১৯৮১ 

(গ) 

    এ , ১৯৮৩ 

(ঘ) 

     , ১৯৭৭ 

     খ। এ   , ১৯৮১ 

৬৮। 

                                 ? 

(ক) 

ও     ও     

(খ) 
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ও     

(গ) 

      

(ঘ) 

 ক   ও   -ঘ    

     ঘ।  ক   ও   -ঘ    

৬৯। 

            ত      ত       ? 

(ক) 

    ক   

(খ) 

                 

(গ) 

ক         ক       

(ঘ) 

        

     গ। ক         ক       

৭০। 

   ম           ত ত                         ত      ত    ? 

(ক) 

ক         

(খ) 

         

(গ) 

         

(ঘ) 

   গ        

     খ।          
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৭১। 

     ত             ম       ? 

(ক) 

         ক 

(খ) 

        এ 

(গ) 

           ক   ক   

(ঘ) 

          

     গ।            ক   ক   

৭২। 

         ত                          ? 

(ক) 

            

(খ) 

         

(গ) 

        

(ঘ) 

           

     ক।             

৭৩। 

ম                           ত? 

(ক) 

১৭    (   ) 

(খ) 

১৮    (   ) 
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(গ) 

১৫    (   ) 

(ঘ) 

২০    (   ) 

     খ। ১৮    (   ) 

৭৪। 

                     ? 

(ক) 

 ক            ক   ত   

(খ) 

 ক            ক      

(গ) 

 ক            ক                 

(ঘ) 

ও            

     খ।  ক            ক      

৭৫। 

             ত                 ? 

(ক) 

       

(খ) 

              

(গ) 

            

(ঘ) 

 ক ত 

     ক।        

৭৬। 
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       ত               ত              ? 

(ক) 

         

(খ) 

গ        

(গ) 

         

(ঘ) 

                 

     খ। গ        

৭৭। 

   ম খ                 ? 

(ক) 

৪    

(খ) 

৫    

(গ) 

৬    

(ঘ) 

৮    

     গ। ৬    

৭৮। 

    খ                         ত      - 

(ক) 

      তক        

(খ) 

              

(গ) 
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      ক        

(ঘ) 

  ক  তক        

     ঘ।   ক  তক        

৭৯। 

          -           ম   ? 

(ক) 

      খ   

(খ) 

         

(গ) 

 ও   গ       

(ঘ) 

      গ       

     ক।       খ   

৮০। 

       ত                            ত     ম      , ত           ? 

(ক) 

         

(খ) 

ক   ক      

(গ) 

    ক      

(ঘ) 

       

     খ। ক   ক      

৮১। 

A rocket flying to the moon does not need wings because _. 

(ক) 
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space is airless 

(খ) 

it has no fuel 

(গ) 

pace has too much dust 

(ঘ) 

it has no engine 

     ক। space is airless 

৮২। 

Rubber is notable for its _. 

(ক) 

Lightness 

(খ) 

heaviness 

(গ) 

viscosity 

(ঘ) 

elasticity 

     ঘ। elasticity 

৮৩। 

Julius Caesar was the rular of rome about _. 

(ক) 

1000 years ago 

(খ) 

1500 years ago 

(গ) 

2000 years ago 

(ঘ) 

3000 years ago 

     গ। 2000 years ago 
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৮৪। 

The South Pole is located in - 

(ক) 

Occident 

(খ) 

Antipodes 

(গ) 

Arctic 

(ঘ) 

Antarctic 

     ঘ। Antarctic 

৮৫। 

Tiger:Zoology::Mars:? 

(ক) 

astrology 

(খ) 

cryptology 

(গ) 

astronomy 

(ঘ) 

telescopy 

     গ। astronomy 

৮৬। 

Break : Repair :: Wound: 

(ক) 

Hurt 

(খ) 

Heal 

(গ) 

Fix 
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(ঘ) 

Plaster 

     খ। Heal 

৮৭। 

Frightened : Scream :: Angry : 

(ক) 

Shout 

(খ) 

Shiver 

(গ) 

Cry 

(ঘ) 

Sneer 

     ক। Shout 

৮৮। 

He _ consciousness as a result of his hitting the car's dashboard. 

(ক) 

passed 

(খ) 

Failed 

(গ) 

broke 

(ঘ) 

lost 

     ঘ। lost 

৮৯। 

Only after I _ home, did I remember my doctor's appointment. 

(ক) 

go 

(খ) 
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Going 

(গ) 

went 

(ঘ) 

gone 

     গ। went 

৯০। 

When they had their first child, they put _ a large sum for his education. 

(ক) 

beside 

(খ) 

Aside 

(গ) 

outside 

(ঘ) 

under 

     খ। Aside 

৯১। 

If you count 1 to 100, how many 5s will you pass on the way? 

(ক) 

20 

(খ) 

11 

(গ) 

10 

(ঘ) 

18 

     ক। 20 

৯২। 

A farmer had 17 hens.All but 9 died.How many live hens were left ? 
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(ক) 

18 

(খ) 

0 

(গ) 

9 

(ঘ) 

16 

     গ। 9 

৯৩। 

If two typist can type two pages in two minutes,how many typists will it take to type 18 
pages in six minutes? 

(ক) 

6 

(খ) 

3 

(গ) 

18 

(ঘ) 

9 

     ক। 6 

৯৪। 

The fifth consonant from the beginning of this sentence is the letter_. 

(ক) 

a 

(খ) 

i 

(গ) 

e 

(ঘ) 
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t 

     ঘ। t 

৯৫। 

If the second day of the month is a Monday, the eighteenth day of the month is a _. 

(ক) 

Sunday 

(খ) 

Tuesday 

(গ) 

Wednesday 

(ঘ) 

Monday 

     গ। Wednesday 

৯৬। 

Two men, starting at the same point, walk in opposite directions for 4 meters, turn left 
and walk another 3 meters. What is the distance between them ? 

(ক) 

10 meters 

(খ) 

14 meters 

(গ) 

7 meters 

(ঘ) 

6 meters 

     ক। 10 meters 

৯৭। 

30% of 10 is 10% of which ? 

(ক) 

600 

(খ) 
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40 

(গ) 

60 

(ঘ) 

30 

     ঘ। 30 

৯৮। 

Rahim is 12 years old. He is three times older than Karim. What will be the age of Rahim 
when he is two times older than Karim ? 

(ক) 

15 

(খ) 

16 

(গ) 

17 

(ঘ) 

18 

     খ। 16 

৯৯। 

Divide 30 by half and 10. what do you get ? 

(ক) 

70 

(খ) 

25 

(গ) 

45 

(ঘ) 

55 

     ক। 70 

১০০। 
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If a man swims 4 miters upstream at 1 mph and back downstream to the same point at 4 
mph, what is his average speed ? 

(ক) 

0.8 mph 

(খ) 

3.2 mph 

(গ) 

2.4 mph 

(ঘ) 

1.6 mph 

     ঘ। 1.6 mph 
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